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Friction: Ms on Mt or O depending...

Chat 4 used marilers pulleys
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EX Consider a block A on a horizontel

table with 1k=0.2. Let MASkg
let there be a mass harging over the edge

of the table, passing thre a massless pally

That we call mars 1, I3: 212g-
MA- mA=5kg

MB = 2kg
4/2=0.2
a = Find this valve
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x :  F + - F f = m A a

Y : FN = 0

f: Ff = Mk Fr



(iv) Do the math y into t into X (3)

mAg

Need tension

Insent Fr

look at block 1s:

(Fug-MBa - MAMAG=mA a

= (MATMs) a

a  =

M A I M I B

M B I M A

12-(0.2)5
2 + 5 -g=

if MEO

if MA =0

2 th of treetall 1.4m
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0=10°
MA=5Kg

Mr3- 2kg

M4=0.2

a = ?( i )

( + )

FW3

(???) ?:

WA

=  F f -F SinO = MAG
WA y: - Ff+F.W.3= ma

f: Ff= Ml,2 F,

a  = LA CORO-MA SINO
+ MA

/2/9 -C0.2X(5k5) Cos10° - 5k sin l0) g
(2+5)129 =0.021 g



olet 0=30° (5)

3 0 °

24 - 0. 2X54) 6330 - 5 : 3° (g
2+5

==1.366

= = 0.195 g 2-0.29


